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11.6 MARKING SCHEME REVISED, 31ST MAY 2006

A. READING ITEMS

matter whether one was an
African, European or Asian.
or

to the explanation

item FULL ANSWER TOTAL | IF PARTIAL ANSWER PARTIAL
code MARKS MARKS
RO1 A tick in the right box/Picture i Nil
R0O2 9 months 2519 1.5
RO3 14/4/2006 2| 14/4 Without year or 14™. 1
R04 Two brothers or 2 brothers or 2 2 | If only names given: John 1
or Two and Mark
RO5 Wakulima Traders 1.5
001100432300 1.5
R06 One thousand or 1000 2 | 10 times 100 1
RO7 6 or 7 ways 2 1
R0O8 1. Abstinence 2.5 | A. Mentioned only two of 2
2. Being faithful to partner the methods
3. Jse of condom
4. Use of disposable needles Or if
or syringes,
5. Ensuring that syringes and B. Mentioned only one 1
~ needles are sterilized method.
6. outlawing cultural
practices such as Wife
inheritance or circumcision
( Any 3 of the above)
. RO9 Wife inheritance 1.5
Circumcision 1.5
R10 In the boxing ring, it did not 2.5 | Any response that is close LS

Boxing creates brotherhood
or

Boxing brings them together
or




PARTIAL

Item FULL ANSWER TOTAL | IF PARTIAL ANSWER
code MARKS MARKS
Boxing brings unity
R11 How to protect one’s body 3 | Any response that is close 2
or to the explanation
How to attack and retreat
or
How to pace oneself throughout
a fight
R12 70/= "~ 2.5 | 70 without the Ksh 2.0
R13 Tea and bread 2.5
R14 Any 2,3,4,5, plus 6 or Any 3 Nil
| 2,3,4,5plus1and 6
R15 It enables the family plan on 4 | Any one of the underlined
how to use the family income words or similar phrases
to meet their needs and to missing- subtract 1
save.
R16 Money earned by the family 3 | Any one of the underlined
members from various words or similar phrases
sources, for example, missing- subtract 1
employment, sale of crops.
| R17 Industry 2.5 Nil
R18 It decreased from 46.1% in 1995 4 | Used words such as 2
to 44.9% in 2002 Decreased, declined,
reduction
or
It changed by minus 1.2% from
1995 to 2002
G?gammar 1 Nil
| Writing eligibility 2 | Hard to read 1
TOTAL 50
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B. NUMERACY ITEMS
Note: In all the numeracy concepts, if the answer is incorrect and there
is computation, then the answer.

Ttem | ANSWER TOTAL | IF ANSWER IS PARTIAL

code MARKS | INCORRECT MARKS

MO1 |9 2 Nil

M02 |- (negative sign) 20 Nil

M03 |10-2= 8 2] 10-2 1

M04 | Mburu 2 Nil }

MO5 | 4*%5= 20 or 4+4+4+4+4=20 2 [ 4%5 1

M06 | BX30=120 2 | 5X30 1

MO7 |1+1+1=3o0r3 2.5 1+1+1 11

M08 | 3X5-3X3=6 3.5 | 3X5-3X3 2

M09 |60 3.5 Nil

M10 |201-68= 133 2.5 Nil

M11 | 60+10+25+35+10+10=150 2.5 | 60+10+25+35+10+10 1

M12 | 500-(60+35)=405 3.5 | 500-(60+35) 3

M13 | 500-200=300 2.5 | 500-200= 1

M14 |300+200+400+300+500=1700 3.5 [ 300+200+400+300+500 |2 )

M15 [29,000+21,000=50,000 2.5 [ 29,000+21,000 1 ’\f
I

M16 [2x21,000+ 1X25,000=67,000 3.5 [ 2x21,000+ 1X25,000 2 f,

M17 |(900-700) tonnes thousand 4| 900-700=200 2 o

=200 thousand tonnes
M18 | 600+500+ 400= 1,500 4 | 600+500+ 400= 1,500 |2
thousand tonnes
TOTAL 50 .




